Shining Rock Winter Tour Country Club of NH Trip August 22nd thru 24th 2020

Schedule

Saturday August 22nd

Golf - Country Club of NH golf course - Tee times starting at 12:00PM

5:00PM - 7:00PM check in to rooms, Cornhole / lawn games outside Fairway house

7:00-7:30PM - Dinner Country Club of NH club house / restaurant

9:00 PM - Cornhole / additional beverages, and other activities outside Fairway house

Sunday August 23rd

Breakfast - Country Club of NH club house / restaurant

Golf - Country Club of NH golf course - Tee times starting at 7:30AM

Lunch - Country Club of NH club house / restaurant

Golf - Country Club of NH golf course - Tee times starting at 1:30PM

7:00- 7:30PM - Dinner Country Club of NH club house / restaurant

9:00 PM - Cornhole / additional beverages, and other activities outside Fairway house

Monday August 24th

Breakfast - Country Club of NH club house / restaurant

Golf - Passaconaway Country Club - Litchfield NH - Tee times starting at 11:00AM

Lunch - at the golf course restaurant

Shining Rock Winter Tour - Country Club of NH Trip August 22-24 2020 Participants / Handicaps / Roommates

			8/12 Hdcp	
Players	Roommate / Building	ABCD	Index	
Jonesy	Dean / Fairway	А	4.6	
Tracey	Kathy / Lodge	А	4.9	
Andrew	Paul / Fairway	А	5.3	
Paul	Andrew / Fairway	А	5.6	
Mike McB	Single / Fairway	А	5.9	
Kate	Single / Cottage	А	6.3	
Alex	Single / Fairway	В	6.4	
Chris M	Susan / Cottage	В	6.6	
Jack F.	Ellen / Cottage	В	7.7	
Dean	Jonesy / Fairway	В	8.0	
Mooch	Chris G / Fairway	В	8.8	
Jim Lane	Single / Fairway	В	9.0	
Chris G	Mooch / Fairway	С	9.2	
Brooks	Single / Lodge	С	9.5	
Kathy	Single / Lodge	С	11.6	
Roger	Single / Lodge	С	12.2	
Jim G	Single / Fairway	С	16.0	
Bob	Single / Fairway			
Shelley	Shelly / Lodge			
Bruce	Peggy / Cottage	- 		
Ellen	Jack F / Cottage	Jack F / Cottage D		
joe ant	Single / Lodge			
Peggy	Bruce / Cottage			
Susan	Chris M / Cottage D 25			

Shining Rock Winter Tour - Country Club of NH Trip August 22-24 2020 Golf Events

		# of players	Player cost	Total Pool	
Saturday	CC of NH	24	\$10	240	
Sunday AM	CC of NH	24	\$10	240	
Sunday PM	CC of NH	24	\$10	240	
Monday	Passaconaway CC	24	\$10	240	
Cornhole		24	\$5	120	
Non Winning Net / We	ekend Awards	24	\$5	120	
Total event fees			\$50	1200	
2 Non Winning Net (Sat Weekend low Gross	t, Sun AM, Mon) 1st			60 10	
Weekend low Gross	2nd			5	
Weekend low Net	1st			10	
Weekend low Net			5		
Weekend low Net	3rd			5	
Weekend low Net	4th			5	
Commish awards				20	
Total Non Winning Net / Weekend Awards					
Cannot win gross and net					

Country Clu	ub of NN Go	If Course -	Saturday August 2	22nd - Tee times starting at 12:00PM
<u>Team</u>	Tee Time	<u>Player</u>	<u>Tee</u>	<u>Format</u>
1	12:00PM	Andrew	Blue	\$10 per player
1		Mooch	Blue	1 gross, plus all net birdies/eagles, -1 for 4 net pars or better
1		Chris G	Blue	Gross and net cannot be the same person
1		Susan	Red	Record score in relation to par
2	12:10PM	Jonesy	Blue	Team - 1st - \$20 each, 2nd \$17.00 each, 3rd \$13.00 each, 4th 10.00 each
2		Chris M	Blue	2 non winning low net - \$10 each
2		Brooks	Blue	Max recorded score - Gross ESC
2		Ellen	Red	All ties broken by matching cards from #1 handicap hole
3	12:20PM	Paul	Blue	We will pay winners at dinner Saturday night
3		Jim Lane	Blue	
3		Bob	Blue	
3		Peggy	Red	
4	12:30PM	Tracey	Red	
4		Alex	Blue	
4		Roger	White	
4		Bruce	White	
5	12:40PM	Kate	Red	
5		Jack F.	Blue	
5		Jim G	White	
5		Joe Ant	White	
6	12:50PM	Mike Mc		
6		Dean	Blue	
6		Kathy	Red	
6		Shelley	Red	

Country Club of NH Golf Course - Sunday August 23				ord - Tee times starting at 7:30AM
<u>Team</u>	Tee Time	<u>Player</u>	<u>Tee</u>	<u>Format</u>
1	7:30AM	Jim G	White	\$10 per player
1		Bob	Blue	"A", "AB", "B", "C", "CD", "D" teams
1		Shelley	Red	6 holes 2 net, 6 holes 3 net, 6 holes 4 net
1		Ellen	Red	Choose how many scores you take after each hole
2	7:40AM	Kate	Red	-1 for 4 net pars or better only if you take 4 scores
2		Mike McB	Blue	Record score in relation to par
2		Alex	Blue	Team - 1st - \$20 each, 2nd \$17.00 each, 3rd \$13.00 each, 4th 10.00 each
2		Chris M	Blue	2 non winning low net - \$10 each
3	7:50AM	Jack F.	Blue	All ties broken by matching cards from #1 handicap hole
3		Dean	Blue	We will pay winners at Lunch between rounds
3		Mooch	Blue	
3		Jim Lane	Blue	
4	8:00AM	Jonesy	Blue	
4		Paul	Blue	
4		Tracey	Red	
4		Andrew	Blue	
5	8:10AM	Chris G	Blue	
5		Brooks	Blue	
5		Kathy	Red	
5		Roger	White	
6	8:20AM	Bruce	White	
6		Joe Ant	White	
6		Peggy	Red	
6		Susan	Red	

Country Cl	ub of NH Go	lf Course - Sur	day August 23	ord - Tee times starting at 1:30PM
<u>Team</u>	Tee Time	<u>Player</u>	<u>Tee</u>	<u>Format</u>
1	1:30PM	Mike McB	Blue	\$10 per player
1		Alex	Blue	ABCD 2 ball Scramble
1		Bob	Blue	rotate partners AB/CD, AC/BD, AD/BC
1		Ellen	Red	Record total team score (both scores added together)
2	1:40PM	Andrew	Blue	Team - 1st - \$20 each, 2nd \$17.00 each, 3rd \$13.00 each, 4th 10.00 each
2		Jack F.	Blue	Max recorded score - Double Bogey
2		Kathy	Red	All ties broken by matching cards from #1 handicap hole
2		Shelley	Red	We will pay winners at dinner Sunday night
3	1:50PM	Kate	Red	
3		Chris M	Blue	
3		Jim G	White	
3		Bruce	White	
4	2:00PM	Paul	Blue	
4		Dean	Blue	
4		Brooks	Blue	
4		Susan	Red	
5	2:10PM	Jonesy	Blue	
5		Jim Lane	Blue	
5		Roger	White	
5		Peggy	Red	
6	2:20PM	Tracey	Red	
6		Mooch	Blue	
6		Chris G	Blue	
6		Joe Ant	White	

Passaconav	way Country	Club - Monday	/ August 24th	- Tee times starting at 11:00AM
<u>Team</u>	Tee Time	<u>Player</u>	<u>Tee</u>	<u>Format</u>
1	11:00AM	Tracey	Red	\$10 per player
1		Jack F.	Green	Nothing but net (only count net par or better scores)
1		Roger	Green	-1 for gross birdie, -2 for gross eagle
1		Ellen	Red	-1 for 4 net pars or better, -1 for 4 gross pars or better
2	11:10AM	Jonesy	White	Record score in relation to par
2		Dean	Green	Team - 1st - \$20 each, 2nd \$17.00 each, 3rd \$13.00 each, 4th 10.00 each
2		Chris G	Green	2 non winning low net - \$10 each
2		Joe Ant	Green	Max recorded score - Gross ESC
3	11:20AM	Paul	White	All ties broken by matching cards from #1 handicap hole
3		Alex	White	We will pay winners at lunch after golf
3		Bob	Green	
3		Jim G	Green	
4	11:30AM	Andrew	White	
4		Jim Lane	Green	
4		Kathy	Red	
4		Shelley	Red	
5	11:40AM	Kate	Red	
5		Mooch	Green	
5		Bruce	Green	
5		Peggy	Red	
6	11:50AM	Mike McB	Green	
6		Chris M	Green	
6		Brooks	Green	
6		Susan	Red	

Hotel / Course Information

Country Club of New Hampshire 182 Kearsarge Valley Rd. N. Sutton, NH 03260 (603)-927-4246

https://countryclubofnh.com/

Passaconaway Country Club

12 Midway Ave Litchfield, NH 03052 (603) 424-4653

https://passaconawaycc.com/

Course - Yardage / Slope / Rating

Country Club of NH - Par 72

Gold – 6714 – 72.0 - 130

Blue – 6117 - 69.8 - 123

White - 5775 - 67.5, 119

Red (Ladies) - 5114 - 69.4, 120

Passaconaway Country Club - Par 71

Blue - 6848 - 72,6 - 130

White - 6411 - 70.6 - 127

Green - 6017 - 67.6 - 119

Red (ladies) - 5362 - 71.1 - 125